Use your reasoning skills to find out the weight of the fruit and vegetables on the final set of scales in each group!

Show your steps for working out:

Show your steps for working out:

Show your steps for working out:
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Copyright © PlanBee Resources Ltd 2020

www.planbee.com




ANSWERS:

Show your steps for working out:

Pumpkin: 4.1 kg
Pineapple: 0.8 kg

Radish: 0.6 kg

4.1 kg + 0.6 kg = 4.7 kg

Show your steps for working out:

Pumpkin: 3 kg
Radish: 0.5 kg

Pineapple: 0.7 kg

3 kg + 0.7 kg = 3.7 kg

Show your steps for working out:

Mushroom: 40 g
Red onion: 80 g

Pear: 150 g

150g+40g=190g9g

Show your steps for working out:

Onion: 90 g
Green pepper: 100 g

Tomato: 120 g

120g+90g=210¢g
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